Lesson 4 Problem solving with Fractions
Answers
Q1 Fair Feast
Find the answers by dividing the total number of each item of food by 2 (because there were two boys!). Each boy will have - 2 slices of pizza, 4 tomatoes, a carton of orange juice, half an apple and 2 muffins.

Q2. Red circle
[image: ]The red part of the circle makes one quarter ( ¼ ).  If you move the red parts together it will make one quarter. 


Q3. I am thinking of a number…I know that the number (whole) has been split into 3 equal parts. One part is 3 so the other parts are also 3. 
[image: ] 

   [image: ]


The parts altogether make the whole. So 3+3+3=9. The answer is 9. 






Q4. True or False?True because there are 12 squares altogether and 3 are shaded. ¼ of 12 is 3. 

[image: ]

Q5. Who has more?
[image: ]Whitney has more because half of £6 is £3.
One quarter of £8 is £2. 



Q6.Odd one outThis is the odd one out because the two parts are not equal. All the rest show one half. 

[image: ]
[bookmark: _GoBack]
image6.png




image1.png




image2.png
(o

™

| 3[3[3]




image3.png




image4.png
This shows %





image5.png
o)
A =
I'have = of £6
2 Whitney




